Chapter 7 Test Review
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12. Figure ABCDE — Figure _ 2~ AN

13. Name and describe the transformation. { ©to T G0 CCL)

14. Name two sides with the same length. MN < CE_ (Seueral O@?w@g
15. Name two angles with the same measure. LR LN (ﬂwer&& OOSWerS)




2) 21. o Ay ] 1
| | B —_— .
NG
} 4 l 1 I | )
-
! X

D C Yy

(RN OO QY TS
X =\
(6D BB
CUASY D (b Y)

22. | M Ay

oo oY (\%\N‘v

M) L ()
N (5072)



Xﬁ

(O



4) 34. A

35.

14
2W°

3x+ 1






6) HENNE:2

-

NN

22. Reflection in the x-axis @S—\
23. Reflection in the y-axis ()
24. Reflection in the line y = x QE

25. Reflection 1n the y-axis, followed by a _—
reflection in the x-axis.
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26. S(0, 2) reflected in the x-axis 27. T(3, 8) reflected in the x-axis

(-2 (2, -R)

28. O(—3, —3) reflected in the y-axis 29. R(7, —2) reflected in the y-axis

(2-2) (-7,
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10) 28. 90° clockwise about origin
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29. 180° clockwise about origin
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14) 17 18. 19.

0\ L\ N
(A U 5,0



15)

x,y)y—=(x+12,y—17).

25. What is the image of (5, 3)? 26. What is the image of (—1, —2)?

(G+2, 2-) (—\ -\ —2—1}

(. —1) L1V, =)

27. What is the preimage of (—2, 1)? 28. What is the preimage of (0, —6)?
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12(Translation: (x,y) > (x,y — 4
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13?%&%: (x,y) = & +4,y+ 1D
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1“@En: (x,y) = (x—6,y —D
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17) (CONTINUED)

187P(-9. —2). 0(-9. —5). R(=5, =3) 1

Translation: (x,y) = (x + 14,y + )
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Reflection: 1n the x-axrsy

@tion: 907 clockwise about@
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